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What about something like this???

Evaluate the following:
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Demoivre's

[r{cos O +isinO)' = r"[cos(nO)+isin(nO)]
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Example: Simplify the following using the polar form of a complex number.

(I‘-—)\ QY 5 :1—1;:-=*~E. o
=/~ (1-1)
6&*\8’7"
(2"‘:'*"’5? Q‘f)
=3/s*

p— (\/? as 315‘)‘°

¢
$eoy = (3&‘) Gs (—stc)

= Bcis B9
= ‘3(0+I'\)
~ 8¢




SOL[;IIO;::.

le: . 24 - 24
43— 41')6(1—:')8

'-l('\'-b(O.’l‘) (33,0

rea & r=&ve
%.ﬁ&-ﬁ. + n=33
;:;“M reg ey | doade!

Fefs.%s,
=(aszas)’ (s 7‘5. (0' ")

=ge
g | DT | 3drgse
(-1 a3

~=/rRn

™~ ¢ o

tang=’

=V
nO=|
O=p O=3/c0

= (Q‘q' :llo'>‘ = (}‘ﬁn . 3,5)‘
"Gk %, dsag

‘-(Q‘(i s/oto‘) ( 2% :730‘)(3‘6:0': )g*)
z;."dc/wy ;”cagasas)

_/~as
'(D ;3/;' ) Cis ( 10847204 ¥5 — /240 -Zm)

T R s(-l133§

RN P.ﬂag, T ~13s"
+366°
2Lse







	Page 1: May 24-9:51 AM
	Page 2: Sep 22-9:59 AM
	Page 3: May 22-5:45 PM
	Page 4: May 24-9:42 AM
	Page 5: Feb 13-10:00 AM

